[(FHM4FE ENBREEOEERR]

EHA

1 ENEENREER (A - %)

BEXE | BEXE2 | ENE | ENE2 | ENES | ENE4 | ENES it FHENEE

2EH A 984,822| 959.496| 1,446,043 1,160,409| 920,075| 886,183| 587,349| 6,944,377 206
th 14.2% 13.8% 20.8% 16.7% 13.2% 12.8% 85%  100.0%

HHRE A3 6,892 7440 16,036 15498 10,861 11,396 8,386\ 76,509 232
th= 9.0% 9.7% 21.0% 20.3% 14.2% 14.9% 11.0%  100.0%

' A# 2,205 2,055 3,976 3,804 2,567 2,513 2,148 19,268 293
th 11.4% 10.7% 20.6% 19.7% 13.3% 13.0% 11.1%|  100.0%

A3 A3 1,924 1,953 3,807 3,261 2,233 2,511 1,748 17,437 221
th 11.0% 11.2% 21.8% 18.7% 12.8% 14.4% 10.0%|  100.0%

IR A 953 1,241 3,124 3,655 2,791 2,712 1,836 16,312 248
tea= 5.8% 7.6% 19.2% 22.4% 17.1% 16.6% 11.3%|  100.0%

witE N 764 904 2,200 1,544 1,121 1,352 909 8,794 295
te 8.7% 10.3% 25.0% 17.6% 12.7% 15.4% 10.3%|  100.0%

T A 405 537 828 978 683 726 529 4,686 )36
teER 8.6% 11.5% 17.7% 20.9% 14.6% 15.5% 11.3%|  100.0%

t+= A 641 750 2,101 2,256 1,466 1,582 1,216 10,012 244
teER 6.4% 7.5% 21.0% 22.5% 14.6% 15.8% 12.1%|  100.0%

KRR RS (R 53 A4 L)
XPHENEE= (O+O+0+D+B®+O+®) ~#fF%
QSR 1 OHELX0. 375, @ESHR 2 DX 1, OZIr# 1 O X 1, @ZIi# 2 O
X2, QEIH#ESOMHEX 3, O H#A DN X4, OEI#ES OHHX S5
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ENE



(BT B AER)

BXE | BEXE2 | ENE1 | ENiE2 | ENES | ENi#4 | ENES &t FHENEE

el A# 2,080 1,896 3,595 3,455 2,273 2,267 1,969 17,535 292
ke 11.9% 10.8% 20.5% 19.7% 13.0% 12.9% 11.2% 100.0%

BhRTT A 1,194 1,157 2,230 1,852 1,268 1,426 1,054 10,181 219
th= 11.7% 11.4% 21.9% 18.2% 12.5% 14.0% 10.4% 100.0%

AN A# 714 883 2,209 2,586 1,915 1,758 1,204 11,269 243
te 6.3% 7.8% 19.6% 22.9% 17.0% 15.6% 10.7% 100.0%

2am A# 180 190 412 423 301 292 187 1,985 228
[ 9.1% 9.6% 20.8% 21.3% 15.2% 14.7% 9.4% 100.0%

BARJNET (A 253 357 905 590 403 527 353 3,388 225
a3 7.5% 10.5% 26.7% 17.4% 11.9% 15.6% 10.4% 100.0%

+ MET  (AH 143 261 786 859 542 532 375 3,498 21
fag: 41% 7.5% 22.5% 24.6% 15.5% 15.2% 10.7% 100.0%

=R A 73 100 309 367 231 300 234 1,614 262
k== 4.5% 6.2% 19.1% 22.7% 14.3% 18.6% 14.5% 100.0%

o A 333 435 626 764 538 545 429 3,670 236
bz 9.1% 11.9% 17.1% 20.8% 14.7% 14.9% 11.7% 100.0%

2HBH | AE 250 276 557 393 311 364 234 2,385 201
ek 10.5% 11.6% 23.4% 16.5% 13.0% 15.3% 9.8% 100.0%

) A 149 231 446 394 272 304 188 1,984 226
bt 7.5% 11.6% 22.5% 19.9% 13.7% 15.3% 9.5% 100.0%

FERET A 51 74 182 146 118 108 64 743 295
th= 6.9% 10.0% 24.5% 19.7% 15.9% 14.5% 8.6% 100.0%

5 BIET A# 23 24 49 43 52 37 24 252 235
th= 9.1% 9.5% 19.4% 17.1% 20.6% 14.7% 9.5% 100.0%

EEH A 5 15 45 49 39 25 18 196 238
th 2.6% 7.7% 23.0% 25.0% 19.9% 12.8% 9.2% 100.0%

S iERT | ABR 46 46 105 111 85 76 73 542 242
bt 8.5% 8.5% 19.4% 20.5% 15.7% 14.0% 13.5% 100.0%

ByRET | A 64 67 155 160 100 92 63 701 21
[ 9.1% 9.6% 22.1% 22.8% 14.3% 13.1% 9.0% 100.0%

SRIEET A# 54 26 168 107 95 102 65 617 234
bz 8.8% 4.2% 27.2% 17.3% 15.4% 16.5% 10.5% 100.0%

BEHEM |A% 4 7 14 25 11 20 18 99 278
g3 4.0% 7.1% 14.1% 25.3% 11.1% 20.2% 18.2% 100.0%

TR I HIT A 64 102 214 185 143 128 74 910 292
g3 7.0% 11.2% 23.5% 20.3% 15.7% 14.1% 8.1% 100.0%

KESHT A 123 92 195 115 87 121 68 801 206
ek 15.4% 11.5% 24.3% 14.4% 10.9% 15.1% 8.5% 100.0%

BEEN |AR 72 44 92 90 48 75 47 468 218
bt 15.4% 9.4% 19.7% 19.2% 10.3% 16.0% 10.0% 100.0%

HRAJNET A 138 130 204 177 103 145 112 1,009 217
th 13.7% 12.9% 20.2% 17.5% 10.2% 14.4% 11.1% 100.0%

#E AT A# 65 103 210 152 108 122 110 870 230
th 7.5% 11.8% 24.1% 17.5% 12.4% 14.0% 12.6% 100.0%

FRiaET A# 78 75 205 142 104 145 84 833 229
te& 9.4% 9.0% 24.6% 17.0% 12.5% 17.4% 10.1% 100.0%

FiOhET (A% 144 96 205 154 94 154 107 954 220
2 15.1% 10.1% 21.5% 16.1% 9.9% 16.1% 11.2% 100.0%

tFH A% 60 100 260 263 216 169 164 1,232 248
bt 4.9% 8.1% 21.1% 21.3% 17.5% 13.7% 13.3% 100.0%

-2-




BEXE | EXR2 | ENE1 | ENEE2 | ENES | ENE4 | ENES &t FHENEE

NFHT A 15 21 69 132 94 98 84 513 283
b 2.9% 41% 13.5% 25.7% 18.3% 19.1% 16.4% 100.0%

-y A 34 31 62 74 46 64 38 349 2.40
teE 9.7% 8.9% 17.8% 21.2% 13.2% 18.3% 10.9% 100.0%

BALHET A# 103 101 306 299 186 195 149 1,339 234
ke 7.7% 7.5% 22.9% 22.3% 13.9% 14.6% 11.1% 100.0%

G LS PN | 69 40 104 108 57 70 65 513 226
te 13.5% 7.8% 20.3% 21.1% 11.1% 13.6% 12.7% 100.0%
BUOSEET (AH 47 53 187 193 161 166 112 919 256
teE 5.1% 5.8% 20.3% 21.0% 17.5% 18.1% 12.2% 100.0%

KFEET A 18 41 36 47 43 58 27 270 250
a3 6.7% 15.2% 13.3% 17.4% 15.9% 21.5% 10.0% 100.0%

ESCED) A 30 35 96 124 63 76 4 465 234
bR 6.5% 7.5% 20.6% 26.7% 13.5% 16.3% 8.8% 100.0%

REEN AR 8 14 34 27 19 19 15 136 2,30
b 5.9% 10.3% 25.0% 19.9% 14.0% 14.0% 11.0% 100.0%

{EFHH A 16 12 36 16 20 28 17 145 237
ek 11.0% 8.3% 24.8% 11.0% 13.8% 19.3% 11.7% 100.0%
=FH A# 29 48 148 178 119 132 90 744 255
ke 3.9% 6.5% 19.9% 23.9% 16.0% 17.7% 12.1% 100.0%

AFHET A 70 93 181 186 154 206 141 1,031 258
th 6.8% 9.0% 17.6% 18.0% 14.9% 20.0% 13.7% 100.0%

2] A# 5 25 50 97 85 78 57 397 283
bt 1.3% 6.3% 12.6% 24.4% 21.4% 19.6% 14.4% 100.0%

FAERAT A# 53 105 189 238 210 234 121 1,150 257
[ 4.6% 9.1% 16.4% 20.7% 18.3% 20.3% 10.5% 100.0%

F& L HT A# 29 27 137 140 115 107 84 639 258
bz 4.5% 4.2% 21.4% 21.9% 18.0% 16.7% 13.1% 100.0%
st A# 6 7 23 37 32 31 27 163 283
keEE 3.7% 4.3% 14.1% 22.7% 19.6% 19.0% 16.6% 100.0%

XNERRERRAEHE (RSEIATEY)




2 FH—RHUR/FHZRHE

EH—RFEIFE | FHZREE
2E 2.12 2.14
THE 2.32 2.34
& hig 2.19 2.22
R8s 2.29 2.29
J\F ihig 2.55 2.55
et A dhisg 2.22 2.23
T At hisg 2.33 2.37
L+ =3hig 2.48 2.52

KBEXERYNT =V (RAEE) XY (LLTFRL)

TRHENEE =
2.60 -
2.50 -
2.40 -
2.30 -
2.20 -
2.10 -
2.00 -
1.90 - 2 , 2 .
z 5 a5 E AN ] T +
E3| = # 8% P it it +
2 H#h Hh #h ko #h =
i b 1 h 25 #h
1 i
3 —R¥FERH - ZR¥EBER
(BEHE) (%)
ZRHEREE —REIEDEER
Y (B | EXIR2| BN E 1 | ENE2 | ENES| ENE4 | ENES|EELE | ERLLIBELR
JE%Y 59.6 34.0 0.7 55 0.1 0.0 0.0 0.0 40.4 596 | —
EXE 00 96.0 138 2.1 00 00 0.0 0.0 40 96.0 0.0
| EXiR2 00 0.1 96.2 35 0.1 0.0 0.0 0.0 0.1 99.7 0.1
x| BENE 0.0 00 1.2 96.1 25 0.1 0.0 0.0 26 974 0.0
ﬂ ENiE2 0.0 0.0 0.0 0.1 97.8 22 0.0 0.0 22 97.8 0.1
S ETET 0.0 0.0 0.0 0.0 0.1 97.4 25 0.0 25 974 0.1
ENiE4 0.0 0.0 0.0 0.0 0.0 0.1 95.2 47 47 95.2 0.1
EAiE5 0.0 0.0 0.0 0.0 0.0 0.0 0.1 999 — 99.9 0.1

XIEXR21STENE1 L EEEE) ZTREFILEL,




4 —RYUEILZRHBANDEREERER EELXER

SHAEE (%) SHSEE[SE] (%)
e 0.7 80| [2E 0.8 8.3
AR 0.1 28| |BEHE 0.1 3.0
H g 0.1 4.1 HFRihis 0.2 43
FEBRHh IS 0.0 0.1 SR B g 0.0 0.2
J\ F Hhisg 0.1 2.8 J\ P Hhig 0.2 3.2
7a L F Hhisg 0.1 0.3 | |FEdLFHhis 0.0 0.1
T Jk Hhig; 0.1 7.9 | | Fdtihis 0.1 74
L+ =thig 0.0 52 | |E+=thig 0.0 5.3
(%)
. BELER
0.6 -
0.4 -
0.2 -
0.0 - [ [ [ [ [
2 = &5 b3 I\ 7 T i
= = = 23 =] it it +
[} i#h ih i#h o h =
15 15 15 i 15 Hh
= =
(%) EEETEE
10.0 -
8.0 -
6.0 -
4.0 -
2.0 -
0.0 -
=
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maoe [
wemu

s>

ﬁ&?luﬂ-rF




5 —R¥IE MFEZXS AoDEELEER

THAFE (%) AT 3EE (23] (%)
BEZES EELEE
2= 69.3 2E 70.4
HHEE 40.4 HHE 415
&g 53.2 &g 53.7
FEE Hhig 1.7 FEE Hhisg 2.9
J\F Hhig 61.6 J\ P Hhig 70.8
a4t A Hhig; 2.6 a L B Hhig 0.0
T At hisg 77.9 T At ihish 74.5
4 =thig; 43.6 4+ =Hhig 50.9
%%0 MFEEZY ) hoDEEEER
80.0 -
60.0 -
40.0 -
20.0 - I
0.0 -
% &5 % e I\ i F +
E o 23 B it it +
=} iﬂj th ih E: th =
b b4 b ih 15 #h
b =
6 AIEZ=X#|ER - SE-XRFIERER
3 (%)
_I@ ’k*“EmLEE# ﬁﬁ@?ﬁ"\o@%{t
ISR [ EXE | EXIE2 | ENE 1 | ENH2 | ENES | EN#E4 | ENEs| EEL | 815k
BB 16| 739| 246 0.0 0.0 0.0 0.0 00| 246 1.6
- EYiE2 04| 179| 817 0.0 0.0 0.0 0.0 0.0 00| 183
l§l EAiE 0.1 0.0 00| 61.7| 284 7.2 1.8 07| 381 0.1
Jz Ef g2 0.1 0.0 00| 158 539 217 6.8 18| 302| 159
ﬂ E1 &3 00 0.0 0.0 58| 133| 451| 267 91| 359 190
Tl E=hmas 0.0 0.0 0.0 38 60| 128| 516| 257 257| 226
E {55 0.1 0.0 0.0 1.2 2.2 34| 187 743 — 25.7
RAEE




7 HIEZRHEMSSEZRHB~DEELE EELE

SHA4EE (%)
BELE EELE
2F 13.0 28.3
TR 13.2 26.9
& FRhis 12.2 24.3
FEE s 13.3 26.7
I\ Hhis 14.9 34.4
a4k B g 12.0 24.4
T db this 12.8 24.8
4= #hisg 15.2 27.9
(%) BIEIA > DEEILE
20.0 -
15.0
10.0
50 -
00 n T T T T T T T
& & &5 = I\ i T
E o o3 23 = it it
=} th th H#h k1 th
b 1 1 ih b4
5
(%)40 0 AIEIMN S DEEE
30.0 -
20.0 -
10.0
00 n T T T T T
& = = P JAN [i] T
= #x o3 23 B it it
=} #h th th k1 th
5 5 5 % 15
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8 EXE2/7ENE1DEYSIT

SHAEE _
EXE2 E it
43 bR H3 e 531 bR
2= 643,734 38.9%| 1,010,838 61.1%| 1,654,572 100.0%
TR 6,029] 29.4% 14,476 70.6%| 20,505| 100.0%
HAfhig 2,070 35.1% 3,825 64.9% 5,895 100.0%
FEER s 1,341 29.4% 3,227 70.6% 4568| 100.0%
J\FE Hhig 886 27.7% 2317 72.3% 3,203 100.0%
754t F fhis 827 23.9% 2,637 76.1% 3,464| 100.0%
Tt hisg 411 31.1% 912 68.9% 1,323] 100.0%
=g 494  24.1% 1,558 75.9% 2052| 100.0%
EXE2/ENE1IRY 5 I+E
20% 40% 60% 80% 100%
EE|
FHE
=i
EERihig mEXE2
BENE
J\F thig
7ot T Hhisg
T At thig
E+=thig




9 EMi# 1 OWREHAEERK

SHAEE

ERENBEEEDIET REFELIKEE it

43 bR H3 e 531 bR
2H 715,519 70.8%| 295,319 29.2%| 1,010,838 100.0%
TR 10,278 71.0% 4,198 29.0% 14.476] 100.0%
HAfhig 2,604 68.1% 1,221 31.9% 3,825 100.0%
FEER s 2019 62.6% 1,208 37.4% 3,227| 100.0%
J\ P #hig 1,986 85.7% 331 14.3% 2317| 100.0%
78 1t T Hhis; 1,854 70.3% 783 29.7% 2637| 100.0%
Tt hisg 671 73.6% 241 26.4% 912| 100.0%
4= #hig; 1,144 73.4% 414 26.6% 1,558] 100.0%

ENi 1 OREBERANEBEE
0% 20% 40% 60% 80% 100%
k|
BEHE
F FR iz
R Hhig B R4 EEDIET
B AR E A IKEE

N B
754t 7 Hh i
Tt thig
o




10 WMEAHK (REHLAS-RHTEET) 01

AFn 4 ERE (B)
iR B |ERZER 5
£E 39.7 411 39.0 40.3
EHE 40.7 427 40.9 419
&g 40.7 42.0 416 416
FEER Hhis 36.4 419 36.5 39.4
J\ & Hhig 41.0 425 420 419
7a b F fhis 39.9 375 385 38.3
Tk #hig 42 1 48.0 39.3 45 4
L+ =thig; 492 51.2 48.3 50.1
S IEE [BE] (/)
R HH | ERZEHE 5t
2H 375 38.7 36.6 38.0
EHE 39.6 40.9 39.1 40.3
E Hihisg 396 40.3 39.0 40.0
R ER Hhis 34.1 36.0 33.7 35.0
J\ B #hig 405 42 4 411 41.6
a4k B Hhig; 37.6 36.1 36.7 36.6
T4t #hig 425 475 394 452
4= thig; 481 49.7 46.6 48.8
(8) MEAHZTD 1
55.0 -
50.0 -
45.0 -
40.0
35.0
30.0

EH

8 S i
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11 NHEEE (FENLLRYUEEET) £02
&3 (%) (H)
1~10H|11~20R|21~308|31~40H|41~508| 51H~ FEi5
R 0.0 0.3 185 38.8 26.3 16.1 40.7
BE 0.0 038 12.9 35.7 295 21.1 427
RHZER 0.0 0.3 17.6 385 26.7 16.9 40.9
NEBAYFZTD 2
0% 20% 40% 60% 80% 100%
| E11~20H
m21~30H
= [ ssi~aos
| m41~50H
E51H~
12 5ERFIGRER
350 (%)
kel | EXE | EXE2 | B | Enme | Eamc | Eama | Enus
EMRERIREILAE 13 00| 154 0.0 77| 231 77| 308| 308
B EFILE 23 0.0 00| 217 304 217| 130 0.0 0.0
BIEESBHEEE 18 00| 167 16.7| 222 00| 222 0.0 0.0
% BRI ENEAE 29 0.0 34| 103| 103| 207/ 172 207 207
VEZHIZHITBBREE 106 1.9 5.7 00| 217 189| 142 170/ 170
HBE/MNE MR 38 00| 211 23.7 79| 2141 7.9 79 79
HHEMEE 21 00| 190 238| 143| 190 0.0 48 48
BEE 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HER R A BHE 117 0.0 6.0 85| 214| 308 154 9.4 9.4
A I B = B 886 14 76 86| 242\ 193] 140/ 107/ 107
IN—FVURBEERSR 44 0.0 9.1 136 227 318 6.8 9.1 9.1
BAE M EIARTELIE 10 00| 200 00| 200/ 500/ 100 0.0 0.0
BEEI YT F 16 0.0 6.3 125| 125 250 6.3 125| 125
BRI E MR R 15 00| 133 6.7] 200/ 133| 267 6.7 6.7
2 14 BE B 23 45 174 217 174 26.1 8.7 43 43
MNAFRER 278 1.1 76| 108 97| 198 198| 194/ 194
AR e o FRIER 20% L4 E




